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Why is this different from stating; “this is [w7P77] (sanctified)’.

OVERVIEW

The & 13 states that if one is 2027 a vi by saying 071 X177 °77 it is an effective
712, The R compares it to WP X177 °77, where it is an effective wpm;
similarly ©9n1 X1 77 is an effective a1 92, Mmoo questions  this
comparison, for by another expression we find that w71 and 07 210°2 are
dissimilar.
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This is astounding! For the X723 in the beginning of 977 1°2 PR pPI9

implies that the statement, ‘this loaf is w7p’, that is adequate to make it

vpn. However if one said -
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“This w3 is earthenware’, he certainly said nothing meaningful'. The vs
will not be Yv2. We see that we cannot compare WP to a1 21002, By wpn the statement
wIpn a1 122 is effective and by ©3 saying 071 77 v3 (which is similar to W7pn 77 733), is
ineffective. How therefore can the X nx derive that 07 X7 777 is a sufficient 7002 from
WIPn R 070, when we see that there is a difference between w7pi1 and va.

Mmoo will now explain how we know that 0911 77 03 is an invalid 9 102:
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For the statement 0717 777 03 is an inferior expression of 71°2 than o977 777 ©)
%173 concerning which the X3 said clearly that if he said X171 090 77 03 it is

meaningless; there is no 710°2. It certainly follows that if he said 0711 717 03 (without the
word X17) it is certainly no 712 (and by w7pn the expression wWIpn a1 123 is effective).

mooin will now explain how we know that the expression 0711 77 vi is inferior to the
expression X7 0717 777 L
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For if he said '8y7 9va' his words are effective and the v3 is »v2. However,
— when he said ‘this vs is Yv2’, and he did not add and say '8¥7'; i.e. n7 vy
'X17 202 we had a query in the X123 concerning this case of w2 (71 v3) and

! maown will shortly prove this.
% moon will shortly prove this.
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we concluded by saying "Y23n'; this question remains unresolved. However X177 913
is adequate. This shows that the addition of the word '®17' is a superior expression of
712, The original question remains if 0717 77 V3 is not effective (since X7 077 177 VA is not
effective) and w7pn 71 722 is effective that proves that the rules of WP and van 702 are
different. How can we resolve the question of 202 X7 >71 from wTpn X7 >7?

SUMMARY

How can we derive that 0311 X377 >3 is an effective 910°2, from WP R 077
which is an effective wipn? The rules of wipa and w7 72 are
incomparable. This is evidenced by the fact that 0917 77 v is ineffective as
91072 (since X177 0701 177 A is ineffective) and Wpn 71 122 is an effective wWIps.

THINKING IT OVER

If the X3 derives that 037 X177 977 is a valid 90°2 from w7 X7 °07; then
previously when the X3 queried, what is the ruling by %v2 77 va, why did
not the X derive that it is a valid »1°2 from w7p7 71 19321

? See (TXA) X"wAR.
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